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nN.B.i- (1) Question Ne.1 is compulsory.
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(2) Attempt any three guestions out of remaining five questions,
(3) Assume suitable data if necessary and justify the sams.

Answer the following guestions:
A) What are the factors which ara affecting the schedule spead?
B) State and explain the laws of illumination. &
C) Write short note on overhead equipment used for electri
D) What are the requirements of ideal traction?

Compare the features of different types of tractien, ;
With a neat diagram, explain the working principle of lg géNt lamns Write

Its advantages and disadvantagss. G2 | 5.
- tale qu L thE Wﬂrkfng

ahe. Gc the layout of 3

A machine shop 30mtx15mt is to have an illumin
plane. The lamps are mounted 5mt above the L g
suitable installation using 80 watt fluorescent'lag ssuMe suitable data and
justify your assumption. Dasoriba the dH itrofiing *nethaods,

What is polar curve? Why it is requirgd lyminatic » Explain the working
principle of integrating sphere photometer

Draw and explain the vaper com ._ Wapcr susorption type refrigeration
cycles. Compare their featuras it y €nergy eficiency and applications.
Draw the power flow configurationsief serins and parallel type Elecetric hybrid
vehicles,

REaEe matt ods of DC motors.

ing foi:r motors each developing 6000 Nm torgue
' rest I the gradient is 40 in 1000, gear ratic is 4,

ffi is 87%, wheal radius Is 40 om, train resistanca s

tatiorai iniertia effect is 12%.calculate the time taken *o

ph. fthe line voltage is 3000V DC, and the efficiancy of

current during notching period.

Draw and Explain ths‘é
A 250 ten motor
auring acceleration
gear transmissio
SONMton, the additia
attain the speed
motors is 859,

adiifateral speed time characteristic and Derive an exprassion for
5. terme of V1, V2, T, ¢ and &,

BPbetveen two stops is 1.2km. A scheduls speed of 40kmph is
guiredytodeo = that distance. The s\op is 18 sec duration. The values of
celeration and retardation are 2kmphps and 3 kmphps respectively. Determine
d%itoun speed over the run. Assume 3 simplified trapezoidal speed-time

the dist
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